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g iz | &80 ouT IN TOTAL HDCP NET
2 O &= 40 42 82 14.4 67.6
B (EH B= 41 37 78 8.4 69.6
3L |FAIER EFZE 43 38 81 10.8 70.2
44 |FiR EiF 40 37 17 6.0 71.0
54z [HF A 46 47 93 21.6 71.4
6 |fask &RA 48 43 91 19.2 71.8
74L |EER AN hE 45 44 89 16.8 712.2
8fiz |/hE FRiE 46 47 93 204 72.6
Ofif |FH XI% 43 43 86 13.2 72.8
10z (AI%¥y RAE 46 46 92 19.2 72.8
1541 |l B2Ek 43 44 87 13.2 73.8
20z iEd —K 47 48 95 204 74.6
2541 |IxER {#EHF] 49 49 98 21.6 76.4
304 1= #xER 49 50 99 204 78.6
354z B EE 48 43 91 10.8 80.2
BB |Bix B3 47 53 100 18.0 82.0
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